

# Equivalent Definitions of Luce's Semiorders

HASHIMOTO, Hiroshi

## Abstract

The equivalence of some definitions of semiorders which are binary relations is shown by using Boolean matrices over the two element Boolean algebra. Semiorders are represented in various forms by using well-known properties of Boolean matrices, and the properties of semiorders are given as properties of Boolean matrices.

## 1 Introduction

A semiorder is usually represented by a relation or a pair of relations, and it is a fundamental concept in preference, utility, measurement and so on. Many studies of semiorders have been performed in various fields (Fishburn, 1970; Roberts, 1979; Roubens and Vincke, 1985), and some definitions of semiorders exist. In this paper we represent semiorders by Boolean matrices over the two element Boolean algebra (Kim, 1982), and show the equivalence of these definitions. Although the logical equivalence of these definitions is well known among researchers, the proof of equivalence by Boolean matrices is simple and clear. Semiorders are represented in various forms by using well-known properties of Boolean matrices, and many properties of semiorders are shown as properties of Boolean matrices.

## 2 Operations and notation

For  $x, y \in \{0, 1\}$ , we define  $x \vee y = \max(x, y)$ ,  $x \wedge y = \min(x, y)$ , and  $\bar{x} = 1 - x$ . We treat Boolean matrices over  $\{0, 1\}$  and generally denote the  $(i, j)$ -element of a Boolean matrix  $A$  by  $(A)_{ij}$  or  $a_{ij}$ . For  $m \times n$  Boolean matrices  $A$ ,

$B$ , and  $n \times p$  Boolean matrix  $C$ , we define matrix operations as follows:

$$(A \vee B)_{ij} = (A)_{ij} \vee (B)_{ij},$$

$$(A \wedge B)_{ij} = (A)_{ij} \wedge (B)_{ij},$$

$$\overline{(A)}_{ij} = \overline{(A)_{ij}},$$

$$(A')_{ij} = (A)_{ji},$$

$$(A \times C)_{ij} = \bigvee_k ((A)_{ik} \wedge (C)_{kj}),$$

$$(A \diamond C)_{ij} = \bigwedge_k ((A)_{ik} \vee (C)_{kj}),$$

$$A \leq B \Leftrightarrow (A)_{ij} \leq (B)_{ij}.$$

As special matrices, we denote the identity matrix by  $I = [\delta_{ij}]$  ( $\delta_{ij}$  is the Kronecker delta), the zero matrix by  $O$ , and the universal matrix all of whose elements are 1 by  $J$ .

### 3 Results

We represent semiorders given by Luce (1956, 1959) and Scott and Suppes (1958) by Boolean matrices. We then show the equivalence of the definitions of semiorders represented by Boolean matrices. First we consider the definitions of semiorders given by Luce. Luce's semiorder consists of a pair of relations. In the following,  $S = [s_{ij}]$  and  $T = [t_{ij}]$  are  $n \times n$  Boolean matrices, the elements of which are zero or one.

Definition 1 (Luce, 1956). A Boolean matrix system  $(S, T)$  represents a semiorder if for every  $i, j, k$ , and  $l$

- (1) exactly one of  $(S)_{ij} = 1$ ,  $(S)_{ji} = 1$ , or  $(T)_{ij} = 1$  holds,
- (2)  $(T)_{ii} = 1$ ,
- (3)  $(S)_{ij} = 1$ ,  $(T)_{jk} = 1$ ,  $(S)_{kl} = 1 \Rightarrow (S)_{il} = 1$ ,
- (4)  $(S)_{ij} = 1$ ,  $(S)_{jk} = 1$ ,  $(T)_{jl} = 1 \Rightarrow$  not both  $(T)_{il} = 1$  and  $(T)_{kl} = 1$ .

Definition 2. A Boolean matrix system  $(S, T)$  represents a semiorder if for every  $i, j, k$ , and  $l$

- (1) exactly one of  $(S)_{ij} = 1$ ,  $(S')_{ij} = 1$ , or  $(T)_{ij} = 1$  holds,

$$(2) (T)_{ii} = 1,$$

$$(3) (S)_{ij} = 1, (T)_{jk} = 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1,$$

$$(4) (S)_{jk} = 1, (T)_{kl} = 1, (S')_{ji} = 1, (T)_{il} = 1 \Rightarrow (\bar{T})_{jl} = 1.$$

Proposition 1. Definition 1  $\Leftrightarrow$  Definition 2.

Proof. As for condition (1) of Definition 1, clearly  $(S)_{ji} = 1 \Leftrightarrow (S')_{ij} = 1$ .

Condition (4) of Definition 1 can be rewritten as follows:

$$(S)_{ij} = 1, (S)_{jk} = 1, (T)_{jl} = 1 \Rightarrow \text{not both } (T)_{il} = 1 \text{ and } (T)_{kl} = 1$$

if and only if

$$(S)_{ij} = 1, (S)_{jk} = 1, (T)_{jl} = 1 \Rightarrow (T)_{il} \neq 1 \text{ or } (T)_{kl} \neq 1$$

if and only if

$$(S)_{ij} = 1, (T)_{il} = 1, (S)_{jk} = 1, (T)_{jl} = 1 \Rightarrow (T)_{kl} \neq 1$$

if and only if

$$(S)_{ij} = 1, (T)_{il} = 1, (S)_{jk} = 1 \Rightarrow (T)_{jl} \neq 1 \text{ or } (T)_{kl} \neq 1$$

if and only if

$$(S)_{ij} = 1, (T)_{il} = 1, (S)_{jk} = 1, (T)_{kl} = 1 \Rightarrow (T)_{jl} \neq 1$$

if and only if

$$(S)_{ij} = 1, (T)_{il} = 1, (S)_{jk} = 1, (T)_{kl} = 1 \Rightarrow (T)_{jl} = 0$$

if and only if

$$(S')_{ji} = 1, (T)_{il} = 1, (S)_{jk} = 1, (T)_{kl} = 1 \Rightarrow (\bar{T})_{jl} = 1$$

if and only if

$$(S)_{jk} = 1, (T)_{kl} = 1, (S')_{ji} = 1, (T)_{il} = 1 \Rightarrow (\bar{T})_{jl} = 1. \square$$

Definition 3. A Boolean matrix system  $(S, T)$  represents a semiorder if

$$(1) (S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J,$$

$$(2) I \leq T,$$

$$(3) S \times T \times S \leq S,$$

$$(4) (S \times T) \wedge (S' \times T) \leq \bar{T}.$$

Proposition 2. Definition 2  $\Leftrightarrow$  Definition 3.

Proof. We consider the corresponding conditions.

(1) – (3) Obvious.

$$(4) (S)_{jk} = 1, (T)_{kl} = 1, (S')_{ji} = 1, (T)_{il} = 1 \Rightarrow (\bar{T})_{jl} = 1$$

if and only if

$$(S)_{jk} \wedge (T)_{kl} \wedge (S')_{ji} \wedge (T)_{il} = 1 \Rightarrow (\bar{T})_{jl} = 1$$

if and only if

$$(S)_{jk} \wedge (T)_{kl} \wedge (S')_{ji} \wedge (T)_{il} \leq (\bar{T})_{jl}$$

if and only if

$$\bigvee_k \bigvee_i ((S)_{jk} \wedge (T)_{kl} \wedge (S')_{ji} \wedge (T)_{il}) \leq (\bar{T})_{jl}$$

if and only if

$$\bigvee_k ((S)_{jk} \wedge (T)_{kl}) \wedge \bigvee_i ((S')_{ji} \wedge (T)_{il}) \leq (\bar{T})_{jl}$$

if and only if

$$(S \times T)_{jl} \wedge (S' \times T)_{ji} \leq (\bar{T})_{jl}$$

if and only if

$$((S \times T) \wedge (S' \times T))_{jl} \leq (\bar{T})_{jl}$$

if and only if

$$(S \times T) \wedge (S' \times T) \leq \bar{T}. \square$$

**Definition 4** (Luce, 1959; Luce and Galanter, 1963). A Boolean matrix system  $(S, T)$  represents a semiorder if for every  $i, j, k$ , and  $l$

(1) exactly one of  $(S)_{ij} = 1$ ,  $(S)_{ji} = 1$ , or  $(T)_{ij} = 1$  holds,

(2)  $(T)_{ii} = 1$ ,

(3)  $(S)_{ij} = 1, (T)_{jk} = 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1$ ,

(4)  $(S)_{ij} = 1, (S)_{jk} = 1 \Rightarrow$  not both  $(T)_{il} = 1$  and  $T_{lk} = 1$ .

**Definition 5.** A Boolean matrix system  $(S, T)$  represents a semiorder if

(1)  $(S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J$ ,

(2)  $I \leq T$ ,

(3)  $S \times T \times S \leq S$ ,

(4)  $S \times S \leq \bar{T} \times \bar{T}$ .

**Proposition 3.** Definition 4  $\Leftrightarrow$  Definition 5.

Proof. We consider the corresponding conditions.

(1) — (3) Obvious.

(4)  $(S)_{ij} = 1, (S)_{jk} = 1 \Rightarrow$  not both  $(T)_{il} = 1$  and  $(T)_{lk} = 1$

if and only if

$(S)_{ij} = 1, (S)_{jk} = 1 \Rightarrow (T)_{il} \neq 1$  or  $(T)_{lk} \neq 1$

if and only if

$(S)_{ij} = 1, (S)_{jk} = 1 \Rightarrow (T)_{il} = 0$  or  $(T)_{lk} = 0$

if and only if

$(S)_{ij} = 1, (S)_{jk} = 1 \Rightarrow (\bar{T})_{il} = 1$  or  $(\bar{T})_{lk} = 1$

if and only if

$(S)_{ij} \wedge (S)_{jk} = 1 \Rightarrow (\bar{T})_{il} \vee (\bar{T})_{lk} = 1$

if and only if

$(S)_{ij} \wedge (S)_{jk} \leq (\bar{T})_{il} \vee (\bar{T})_{lk}$

if and only if

$\bigvee_j ((S)_{ij} \wedge (S)_{jk}) \leq \bigwedge_l ((\bar{T})_{il} \vee (\bar{T})_{lk})$

if and only if

$(S \times S)_{ik} \leq (\bar{T} \diamond \bar{T})_{ik}$

if and only if

$S \times S \leq \bar{T} \diamond \bar{T} = \bar{T} \times \bar{T}. \square$

Proposition 4 (Luce and Galanter, 1963). If  $I \leq T$  and  $S \times T \times S \leq S$ , then  $S \times S \leq S$ .

Proof.  $S \times S = S \times I \times S \leq S \times T \times S \leq S. \square$

Lemma 1. For  $m \times n$  Boolean matrices  $A, B$ , and  $C$ ,

$(A \wedge B) \vee (B \wedge C) \vee (C \wedge A) = O, A \vee B \vee C = J$

$\Leftrightarrow (A \wedge \bar{B} \wedge \bar{C}) \vee (\bar{A} \wedge B \wedge \bar{C}) \vee (\bar{A} \wedge \bar{B} \wedge C) = J.$

Proof.  $(A \wedge B) \vee (B \wedge C) \vee (C \wedge A) = O, A \vee B \vee C = J$

$\Leftrightarrow (\bar{A} \vee \bar{B}) \wedge (\bar{B} \vee \bar{C}) \wedge (\bar{C} \vee \bar{A}) = J, A \vee B \vee C = J$

$\Leftrightarrow (\bar{A} \vee \bar{B}) \wedge (\bar{B} \vee \bar{C}) \wedge (\bar{C} \vee \bar{A}) \wedge (A \vee B \vee C) = J$

$$\Leftrightarrow ((\bar{A} \wedge \bar{C}) \vee \bar{B}) \wedge (\bar{C} \vee \bar{A}) \wedge (A \vee B \vee C) = J$$

$$\Leftrightarrow ((\bar{A} \wedge \bar{C}) \vee (\bar{B} \wedge \bar{C}) \vee (\bar{A} \wedge \bar{B})) \wedge (A \vee B \vee C) = J$$

$$\Leftrightarrow (\bar{A} \wedge B \wedge \bar{C}) \vee (A \wedge \bar{B} \wedge \bar{C}) \vee (\bar{A} \wedge \bar{B} \wedge C) = J$$

$$\Leftrightarrow (A \wedge \bar{B} \wedge \bar{C}) \vee (\bar{A} \wedge B \wedge \bar{C}) \vee (\bar{A} \wedge \bar{B} \wedge C) = J. \square$$

Proposition 5.  $(S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J$

$$\Leftrightarrow (S \wedge S') \vee (S' \wedge T) \vee (T \wedge S) = O, S \vee S' \vee T = J$$

Proof. By Lemma 1.  $\square$

Proposition 6 (Krantz, 1967; Luce and Galanter, 1963). If  $(S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J$ , then  $S \wedge S' = O$  and  $I \leq T$ .

Proof. By Proposition 5,  $(S \wedge S') \vee (S' \wedge T) \vee (T \wedge S) = O$  and  $S \vee S' \vee T = J$ , so  $S \wedge S' = O$ . Thus  $S \wedge I = O$ , and from  $S \vee S' \vee T = J$  we get  $I \leq T$ .  $\square$

Proposition 7 (Luce and Galanter, 1963). If  $(S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J$  and  $S \times T \times S \leq S$ , then  $S \times S \leq S$ .

Proof. Using Proposition 6, we have  $I \leq T$ . Thus from Proposition 4,  $S \times S \leq S$ .  $\square$

Proposition 8. If  $(S \wedge T) \vee (S' \wedge T) = O$  and  $S \vee S' \vee T = J$ , then  $T = \bar{S} \wedge \bar{S}'$  and  $T' = T$ .

Proof. From  $S \vee S' \vee T = J$ ,  $\bar{S} \wedge \bar{S}' \wedge \bar{T} = O$ , or  $\bar{S} \wedge \bar{S}' \leq T$ . Moreover from  $(S \wedge T) \vee (S' \wedge T) = O$ ,  $(S \vee S') \wedge T = O$ , or  $T \leq \bar{S} \wedge \bar{S}'$ . Therefore  $T = \bar{S} \wedge \bar{S}'$  and  $T' = \bar{S}' \wedge \bar{S} = T$ .  $\square$

Proposition 9 (Krantz, 1967; Luce and Galanter, 1963). If  $(S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J$ , then  $T = \bar{S} \wedge \bar{S}'$  and  $T' = T$ .

Proof. It follows from Proposition 5 that  $(S \wedge S') \vee (S' \wedge T) \vee (T \wedge S) = O$  and  $S \vee S' \vee T = J$ . Therefore using Proposition 8, we have  $T = \bar{S} \wedge \bar{S}'$  and  $T' = T$ .  $\square$

Lemma 2 (Chipman, 1960; Luce, 1952; Schmidt and Ströhlein, 1993; Schröder, 1895).

For Boolean matrices  $A (m \times n)$ ,  $B (n \times p)$ , and  $C (m \times p)$ , the following conditions are equivalent:

- (1)  $A \times B \leq C$ .
- (2)  $A \leq C \diamond \overline{B'}$ .
- (3)  $B \leq \overline{A'} \diamond C$ .

Proof. (1)  $\Rightarrow$  (2) Let  $c_{ik} = 0$  and  $b_{jk} = 1$ . Then since  $A \times B \leq C$ ,  $a_{ij} = 0$ . Hence we obtain (2).

(2)  $\Rightarrow$  (1) Let  $a_{ik} = 1$  and  $b_{kj} = 1$ . Then since  $A \leq C \diamond \overline{B'}$ ,  $c_{ij} = 1$ . Hence we obtain (1).

(1)  $\Rightarrow$  (3) Let  $a_{ki} = 1$  and  $c_{kj} = 0$ . Then since  $A \times B \leq C$ ,  $b_{ij} = 0$ . Hence we obtain (3).

(3)  $\Rightarrow$  (1) Let  $a_{ik} = 1$  and  $b_{kj} = 1$ . Then since  $B \leq \overline{A'} \diamond C$ ,  $c_{ij} = 1$ . Hence we obtain (1).  $\square$

Lemma 3. For Boolean matrices  $A (m \times n)$ ,  $B (n \times p)$ ,  $C (m \times q)$ , and  $D (q \times p)$ , the following conditions are equivalent:

- (1)  $(A \times B) \wedge (C \times D) = O$ .
- (2)  $A \times B \leq \overline{C \times D}$ .
- (3)  $(A' \times C) \wedge (B \times D') = O$ .

Proof. Clearly  $(A \times B) \wedge (C \times D) = O \Leftrightarrow (A \times B) \leq \overline{C \times D}$ . Using Lemma 2, we have

$$\begin{aligned} A \times B &\leq \overline{C \times D} \\ \Leftrightarrow A \times B &\leq \overline{C} \diamond \overline{D} \\ \Leftrightarrow A \times B \times D' &\leq \overline{C} \\ \Leftrightarrow B \times D' &\leq \overline{A'} \diamond \overline{C} \\ \Leftrightarrow B \times D' &\leq \overline{A' \times C} \\ \Leftrightarrow (B \times D') \wedge (A' \times C) &= O \\ \Leftrightarrow (A' \times C) \wedge (B \times D') &= O. \square \end{aligned}$$

Proposition 10. If  $T' = T$ , then  $S \times S \leq \overline{T \times T} \Leftrightarrow (S \times T) \wedge (S' \times T) = O$ .

Proof. From Lemma 3,  $S \times S \leq \overline{T \times T} \Leftrightarrow (S' \times T) \wedge (S \times T) = O \Leftrightarrow (S \times T') \wedge (S' \times T) = O$ . Since  $T' = T$ ,  $S \times S \leq \overline{T \times T} \Leftrightarrow (S \times T) \wedge (S' \times T) = O$ .  $\square$

Proposition 11. If  $S \vee S' \vee T = J$ ,  $T' = T$ ,  $I \leq T$ , and  $S \times T \times S \leq S$ , then  $(S \times T) \wedge (S' \times T) \leq \overline{T} \Leftrightarrow S \times S \leq \overline{T \times T}$ .

Proof.  $(\Rightarrow)$  Suppose  $s_{ik} \wedge s_{kj} = 1$ . It will be shown that  $\vee_l (t_{il} \wedge t_{lj}) = 0$ . Assume by way of contradiction that  $t_{il} \wedge t_{lj} = 1$  for some  $l$ . Since  $T' = T$ ,  $t_{ii} = 1$  and  $t_{jj} = 1$ . Then from  $(s_{kj} \wedge t_{jl}) \wedge (s_{ik} \wedge t_{il}) = 1$  it follows that  $t_{kl} = 0$ . Since  $S \vee S' \vee T = J$ ,  $s_{kl} \vee s_{lk} = 1$ .

Case 1.  $s_{kl} = 1$ . Since  $s_{kl} \wedge t_{li} \wedge s_{ik} = 1$  and  $S \times T \times S \leq S$ ,  $s_{kk} = 1$ . Furthermore since  $s_{kk} \wedge t_{kk} = 1$  and  $(S \times T) \wedge (S' \times T) \leq \overline{T}$ ,  $t_{kk} = 0$ , which is a contradiction.

Case 2.  $s_{lk} = 1$ . Since  $s_{kj} \wedge t_{jl} \wedge s_{lk} = 1$  and  $S \times T \times S \leq S$ ,  $s_{kk} = 1$ . Then since  $s_{kk} \wedge t_{kk} = 1$  and  $(S \times T) \wedge (S' \times T) \leq \overline{T}$ ,  $t_{kk} = 0$ , which is a contradiction.

$(\Leftarrow)$  Using Proposition 10 we have  $(S \times T) \wedge (S' \times T) = O$ . Hence  $(S \times T) \wedge (S' \times T) \leq \overline{T}$ .  $\square$

Proposition 12. If  $(S \wedge \overline{S'} \wedge \overline{T}) \vee (\overline{S} \wedge S' \wedge \overline{T}) \vee (\overline{S} \wedge \overline{S'} \wedge T) = J$  and  $S \times T \times S \leq S$ , then  $(S \times T) \wedge (S' \times T) \leq \overline{T} \Leftrightarrow S \times S \leq \overline{T \times T}$ .

Proof. Using Propositions 5, 6, and 9, we have  $S \vee S' \vee T = J$ ,  $I \leq T$ , and  $T' = T$ . Therefore the result follows from Proposition 11.  $\square$

Proposition 13. Definition 3  $\Leftrightarrow$  Definition 5.

Proof. By Proposition 12.  $\square$

Definition 6 (Krantz, 1967). A Boolean matrix system  $(S, T)$  represents a semiorder if

- (1)  $(S \wedge \overline{S'} \wedge \overline{T}) \vee (\overline{S} \wedge S' \wedge \overline{T}) \vee (\overline{S} \wedge \overline{S'} \wedge T) = J$ ,
- (2)  $S \times T \times S \leq S$ ,
- (3)  $S \times S \leq \overline{T \times T}$ .

Proposition 14. Definition 5  $\Leftrightarrow$  Definition 6.



Proof. By Proposition 6.  $\square$

Definition 7. A Boolean matrix  $S$  represents a semiorder if

- (1)  $S \wedge S' = O$ ,
- (2)  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ ,
- (3)  $S \times S \leq (S \vee S') \diamond (S \vee S')$ .

Proposition 15. Definition 6  $\Leftrightarrow$  Definition 7 with  $T = \bar{S} \wedge \bar{S}'$ .

Proof. ( $\Rightarrow$ ) By Proposition 6, from  $(S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) = J$ , it follows that  $S \wedge S' = O$ . Moreover using Proposition 9 we have  $T = \bar{S} \wedge \bar{S}'$ . Since  $T = \bar{S} \wedge \bar{S}'$  and  $S \times T \times S \leq S$ ,  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ . Furthermore since  $T = \bar{S} \wedge \bar{S}'$  and  $S \times S \leq \overline{T \times T}$ ,  $S \times S \leq (S \vee S') \diamond (S \vee S')$ .

$$\begin{aligned} (\Leftarrow) & (S \wedge \bar{S}' \wedge \bar{T}) \vee (\bar{S} \wedge S' \wedge \bar{T}) \vee (\bar{S} \wedge \bar{S}' \wedge T) \\ &= (S \wedge \bar{S}' \wedge (S \vee S')) \vee (\bar{S} \wedge S' \wedge (S \vee S')) \vee (\bar{S} \wedge \bar{S}' \wedge (\bar{S} \wedge \bar{S}')) \\ &= (S \wedge \bar{S}') \vee (\bar{S} \wedge S') \vee (\bar{S} \wedge \bar{S}') \\ &= (S \wedge \bar{S}') \vee \bar{S} \\ &= \bar{S} \vee \bar{S}' = \overline{S \wedge S'} = J. \end{aligned}$$

$$S \times T \times S = S \times (\bar{S} \wedge \bar{S}') \times S \leq S.$$

$$S \times S \leq (S \vee S') \diamond (S \vee S') = \bar{T} \diamond \bar{T} = \overline{T \times T}. \square$$

Definition 8. A Boolean matrix  $S$  represents a semiorder if

- (1)  $S \wedge I = O$ ,
- (2)  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ ,
- (3)  $S \times S \leq (S \vee S') \diamond (S \vee S')$ .

Proposition 16 (Monjardet, 1988). If  $S \wedge I = O$  and  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ , then  $S \times S \leq S$ .

Proof. Since  $S \wedge I = O$ ,  $I \leq \bar{S}$ ; thus  $I \leq \bar{S} \wedge \bar{S}'$ . Then  $S \times S = S \times I \times S \leq S \times (\bar{S} \wedge \bar{S}') \times S \leq S. \square$

Proposition 17. If  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ , then  $S \wedge S' = O \Leftrightarrow S \wedge I = O$ .

Proof. ( $\Rightarrow$ ) Clearly  $S \wedge I = O$ .

( $\Leftarrow$ ) Using Proposition 16 we have  $S \times S \leq S$ . Since  $S \times S \leq S$  and  $S \wedge I =$

$O, S \wedge S' = O. \square$

Proposition 18. If  $S \times S \leq (S \vee S') \diamond (S \vee S')$ , then  $S \wedge S' = O \Leftrightarrow S \wedge I = O$ .

Proof.  $(\Rightarrow)$  Clearly  $S \wedge I = O$ .

$(\Leftarrow)$  We assume that  $s_{ij} \wedge s_{ji} = 1$ . Since  $S \times S \leq (S \vee S') \diamond (S \vee S')$ , it follows that  $\bigwedge_k (s_{ik} \vee s_{ki} \vee s_{ki} \vee s_{ik}) = 1$ . For  $k = i$ ,  $s_{ii} \vee s_{ii} \vee s_{ii} \vee s_{ii} = 1$ . This is a contradiction since  $S \wedge I = O$ . Hence  $S \wedge S' = O. \square$

Proposition 19. Definition 7  $\Leftrightarrow$  Definition 8.

Proof. By Propositions 17 or 18.  $\square$

Definition 9. A Boolean matrix  $S$  represents a semiorder if

- (1)  $S \wedge I = O$ ,
- (2)  $S \times \bar{S}' \times S \leq S$ ,
- (3)  $S \times S \leq (S \vee S') \diamond (S \vee S')$ .

Proposition 20. If  $S \wedge I = O$ , then  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S \Leftrightarrow S \times \bar{S}' \times S \leq S$ .

Proof.  $(\Rightarrow)$  Suppose  $s_{ik} \wedge \bar{s}_{ik} \wedge s_{ij} = 1$ . It will be shown that  $s_{ij} = 1$ .

Case 1.  $s_{kl} = 1$ . Since  $S \wedge I = O$  and  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ , by Proposition 16 we have  $S \times S \leq S$ . Therefore from  $s_{ik} \wedge s_{kl} \wedge s_{ij} = 1$  it follows that  $s_{ij} = 1$ .

Case 2.  $s_{kl} = 0$ . Since  $s_{ik} \wedge \bar{s}_{kl} \wedge \bar{s}_{lk} \wedge s_{ij} = 1$ ,  $s_{ij} = 1$ .

$(\Leftarrow)$  Clearly  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S \times \bar{S}' \times S \leq S. \square$

Proposition 21. Definition 8  $\Leftrightarrow$  Definition 9.

Proof. The result follows from Proposition 20.  $\square$

Definition 10 (Scott and Suppes, 1958). A matrix  $S$  represents a semiorder if for every  $i, j, k$ , and  $l$

- (1)  $(S)_{ii} = 0$ ,
- (2)  $(S)_{ij} = 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1$  or  $(S)_{kj} = 1$ ,
- (3)  $(S)_{ij} = 1, (S)_{ki} = 1 \Rightarrow (S)_{ij} = 1$  or  $(S)_{kl} = 1$ .

Definition 11. A matrix  $S$  represents a semiorder if for every  $i, j, k$ , and  $l$

- (1)  $(S)_{ii} = 0$ ,
- (2)  $(S)_{ij} = 1, (\overline{S'})_{jk} = 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1$ ,
- (3)  $(S)_{ki} = 1, (S)_{ij} = 1 \Rightarrow (S)_{kl} = 1$  or  $(S)_{ij} = 1$ .

Proposition 22. Definition 10  $\Leftrightarrow$  Definition 11.

Proof. We can rewrite condition (2) of Definition 10 as follows:

$$(S)_{ij} = 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1 \text{ or } (S)_{kj} = 1$$

if and only if

$$(S)_{ij} = 1, (S)_{kj} \neq 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1$$

if and only if

$$(S)_{ij} = 1, (S)_{kj} = 0, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1$$

if and only if

$$(S)_{ij} = 1, (\overline{S'})_{jk} = 1, (S)_{kl} = 1 \Rightarrow (S)_{il} = 1. \square$$

Definition 12 (Scott and Suppes, 1958). A Boolean matrix  $S$  represents a semiorder if

- (1)  $S \wedge I = O$ ,
- (2)  $S \times \overline{S'} \times S \leq S$ ,
- (3)  $S \times S \leq S \diamond S$ .

Proposition 23. Definition 11  $\Leftrightarrow$  Definition 12.

Proof. Definition 12 is a matrix representation of Definition 11.  $\square$

Proposition 24. If  $S \times S \leq S$ , then  $S \times S \leq (S \vee S') \diamond (S \vee S') \Leftrightarrow S \times S \leq S \diamond S$ .

Proof. ( $\Rightarrow$ ) Let  $s_{ik} \wedge s_{kj} = 1$ . It will be shown that  $\bigwedge_l (s_{il} \vee s_{lj}) = 1$ . Then we assume by way of contradiction that  $s_{il} \vee s_{lj} = 0$  for some  $l$ . Since  $S \times S \leq S$ ,  $s_{ij} = 1$ . Furthermore since  $s_{ik} = 1$  and  $s_{il} = 0$ ,  $s_{kl} = 0$ , and since  $s_{kj} = 1$  and  $s_{lj} = 0$ ,  $s_{lk} = 0$ . Similarly since  $s_{kj} = 1$  and  $s_{kl} = 0$ ,  $s_{jl} = 0$ , and since  $s_{ik} = 1$  and  $s_{lk} = 0$ ,  $s_{li} = 0$ . From  $s_{ik} \wedge s_{kj} = 1$  and  $S \times S \leq (S \vee S') \diamond (S \vee S')$ , it follows that  $(s_{il} \vee s_{li}) \vee (s_{lj} \vee s_{jl}) = 1$ . But this is a contradiction.

( $\Leftarrow$ ) Clearly  $S \times S \leq S \diamond S \leq (S \vee S') \diamond (S \vee S')$ .  $\square$

Proposition 25. If  $S \wedge I = O$  and  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ , then  $S \times S \leq (S \vee S') \diamond (S \vee S') \Leftrightarrow S \times S \leq S \diamond S$ .

Proof. If  $S \wedge I = O$  and  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S$ , then we have  $S \times S \leq S$  by Proposition 16. Thus the result follows from Proposition 24.  $\square$

Proposition 26. If  $S \wedge I = O$  and  $S \times \bar{S}' \times S \leq S$ , then  $S \times S \leq (S \vee S') \diamond (S \vee S') \Leftrightarrow S \times S \leq S \diamond S$ .

Proof. Since  $S \times (\bar{S} \wedge \bar{S}') \times S \leq S \times \bar{S}' \times S \leq S$ , the result follows from Proposition 25.  $\square$

Proposition 27. Definition 9  $\Leftrightarrow$  Definition 12.

Proof. The result follows from Proposition 26.  $\square$

Definition 13 (Ducamp and Falmagne, 1969). A Boolean matrix  $S$  represents a semiorder if

- (1)  $S \wedge I = O$ ,
- (2)  $S \times \bar{S}' \times S \leq S$ ,
- (3)  $S \times S \times \bar{S}' \leq S$  or  $(S \times \bar{S}') \wedge (S' \times \bar{S}) = O$ .

Proposition 28 (Ducamp and Falmagne, 1969). Definition 12  $\Leftrightarrow$  Definition 13.

Proof. From Lemma 2,  $S \times S \leq S \diamond S \Leftrightarrow S \times S \times \bar{S}' \leq S \Leftrightarrow S \times \bar{S}' \leq \bar{S}' \diamond S \Leftrightarrow (S \times \bar{S}') \wedge (\bar{S}' \diamond S) = O \Leftrightarrow (S \times \bar{S}') \wedge (S' \times \bar{S}) = O$ .  $\square$

Proposition 29 (Fodor and Roubens, 1994). If  $S \wedge I = O$  and  $S \times S \leq S \diamond S$ , then  $S \times S \leq S$ .

Proof. If  $S \times S \leq S \diamond S$ , then from Lemma 2,  $S \times S \times \bar{S}' \leq S$ . Since  $S \wedge I = O$ ,  $I \leq \bar{S}'$ ; thus  $S \times S = S \times S \times I \leq S \times S \times \bar{S}' \leq S$ .  $\square$

Proposition 30. If  $S \wedge S' \leq I$  and  $S \times S \leq S \diamond S$ , then  $S \times S \leq S$ .

Proof. Suppose  $s_{ik} \wedge s_{kj} = 1$ . It will be shown that  $s_{ij} = 1$ . We then assume by way of contradiction that  $s_{ij} = 0$ . From  $\bigwedge_l (s_{il} \vee s_{lj}) = 1$ , it follows that  $s_{ii} = 1$ . Since  $s_{ik} = 1$  and  $s_{ij} = 0$ ,  $k \neq j$ ; thus  $s_{jk} = 0$ . Furthermore, since  $s_{ii} \wedge s_{ik} = 1$ ,  $\bigwedge_l (s_{il} \vee s_{lk}) = 1$ . For  $l = j$ ,  $s_{ij} \vee s_{jk} = 1$ , which is a

contradiction; hence  $s_{ij} = 1$ .  $\square$

**Proposition 31.** If  $S \vee S' \vee I = J$  and  $S \times S \leq S$ , then  $S \times S \leq S \diamond S$ .

**Proof.** Suppose  $s_{ik} \wedge s_{kj} = 1$ . It will be shown that  $\bigwedge_l (s_{il} \vee s_{lj}) = 1$ . We then assume by way of contradiction that  $s_{il} \vee s_{lj} = 0$  for some  $l$ . Since  $s_{ik} \wedge s_{kj} = 1$ ,  $s_{ij} = 1$ . Therefore, since  $s_{ij} = 0$ ,  $i \neq l$ . From  $S \vee S' \vee I = J$  it then follows that  $s_{li} = 1$ . Since  $s_{li} \wedge s_{ij} = 1$ ,  $s_{ij} = 1$ , which is a contradiction; hence  $s_{il} \vee s_{lj} = 1$  for all  $l$ .  $\square$

**Proposition 32.** If  $S \wedge S' \leq I$  and  $S \vee S' \vee I = J$ , then  $S \times S \leq S \diamond S \Leftrightarrow S \times S \leq S$ .

**Proof.** By Propositions 30 and 31.  $\square$

**Definition 14.** A Boolean matrix  $S$  represents a semiorder if

- (1)  $S \wedge I = O$ ,
- (2)  $S \times \bar{S}' \leq (S \diamond \bar{S}') \wedge (\bar{S}' \diamond S)$ .

**Proposition 33.** Definition 12  $\Leftrightarrow$  Definition 14.

**Proof.** From Lemma 2,  $S \times \bar{S}' \times S \leq S \Leftrightarrow S \times \bar{S}' \leq S \diamond \bar{S}'$ ,

$S \times S \leq S \diamond S \Leftrightarrow S \times S \times \bar{S}' \leq S \Leftrightarrow S \times \bar{S}' \leq \bar{S}' \diamond S$ .

Therefore  $S \times \bar{S}' \times S \leq S$ ,  $S \times S \leq S \diamond S$

$\Leftrightarrow S \times \bar{S}' \leq (S \diamond \bar{S}') \wedge (\bar{S}' \diamond S)$ .  $\square$

#### 4 Conclusion

Using Boolean matrix theory we have shown that the definitions of semiorders given by Luce (1956, 1959) and Scott and Suppes (1958) are equivalent. Redundancy of a condition in the definition of semiorders given by Luce has been examined. Necessary conditions for properties of semiorders become clear by using Boolean matrices. Moreover generalization of well-known properties of semiorders is possible by Boolean matrix representation. Thus Boolean matrices are useful in the discussion of semiorders.

### References

- J.S.Chipman, The foundations of utility, *Econometrica* 28 (1960) 193-224.
- A.Ducamp, J.C.Falmagne, Composite measurement, *Journal of Mathematical Psychology* 6 (1969) 359-390.
- P.C.Fishburn, Intransitive indifference in preference theory: A survey, *Operations Research* 18 (1970) 207-228.
- J.Fodor, M.Roubens, *Fuzzy Preference Modelling and Multicriteria Decision Support*, Kluwer Academic Pub., Dordrecht, 1994.
- K.H.Kim, *Boolean Matrix Theory and Applications*, Marcel Dekker, New York, 1982.
- D.H.Krantz, Extensive measurement in semiorders, *Philosophy of Sci.* 34 (1967) 348-362.
- R.D.Luce, A note on Boolean matrix theory, *Proc. of Amer. Math. Soc.* 3 (1952) 382-388.
- R.D.Luce, Semiorders and a theory of utility discrimination, *Econometrica* 24 (1956) 178-191.
- R.D.Luce, *Individual Choice Behavior: A Theoretical Analysis*, John Wiley & Sons, New York 1959.
- R.D.Luce, E.Galanter, Discrimination, in: R.D.Luce, R.R.Bush, E.Galanter, (Eds.), *Handbook of Mathematical Psychology, Vol. I* (John Wiley & Sons, New York, 1963, pp.191-243).
- B.Monjardet, A generalization of probabilistic consistency: Linearity conditions for valued preference relations, in: J.Kacprzyk, M.Roubens, (Eds.), *Non-Conventional Preference Relations in Decision Making* (Lecture Notes in Economics and Mathematical Systems 301, Springer-Verlag, Berlin, 1988, pp. 36-53).
- F.S.Roberts, *Measurement Theory, with Applications to Decisionmaking, Utility, and the Social Sciences*, Addison-Wesley, Reading, Massachusetts,

1979.

M.Roubens, Ph. Vincke, Preference Modelling (Lecture Notes in Economics and Mathematical Systems 250), Springer-Verlag, Berlin, 1985.

G.Schmidt, T.Ströhlein, Relations and Graphs, Springer-Verlag, Berlin, 1993.

E.Schröder, Algebra der Logik. Vol. III, Teubner, Leipzig, 1895 (Chelsea Publ. Co., New York, 1996).

D.Scott, P.Suppes, Foundational aspects of theories of measurement, The Journal of Symbolic Logic 23 (1958) 113-128.